Imie i nazwisko (First and last name): 00
Informatyka 2020

Kazde zadanie od 0 do 4 punktéw (maksymalnie 27,5). (Each task is from 0 to 4 points (maximum 27.5).)

1 Rozwigz nastepujace rownanie rekurencyjne. (Solve the following recursive equation.)

T(n)=[vn]-T([vn])+0®) A  T(2)=0(1)

2 Opisz algorytm mnozenia macierzy o ztozonosci o(n?). (Describe the matrix multiplication algorithm with o(n?)
complexity.)




3 Ile liczb naturalnych mniejszych od 30000 jest wzglednie pierwszych z 30000. Pokaz spos6b obliczenia wyniku. (How
many natural numbers less than 30000 are relatively prime to 30000. Show how the result is calculated.)

4 Znajdz element odwrotny do 19 w ciele Z;57. Pokaz sposdb obliczenia tego elementu. (Find the multiplicative inverse
to 19 in the field Z;27. Show how to calculate this element.)

5 Co to jest numeryczne uwarunkowanie zadania? Kiedy zadanie jest zZle uwarunkowane? (What is the Condition
Number of a numerical task? When the task is ill-conditioned?)




6 Zbuduj i udowodnij poprawnoé¢ DFA dla jezyka stéw nad alfabetem {a, b} takich, ze liczba liter a lub liczba liter b
nie jest wielokrotnoscia 3. (Build and prove the validity of DFA for the word language over the alphabet {a,b} such
that the number of letters a or the number of letters b is not multiple of 3.)

7 Zbuduj gramatyke bezkontekstowq dla jezyka stéw nad alfabetem {a, b} takich, ze liczba liter a nie jest réwna liczbie
liter b. Uzasadnij jej poprawnos¢. (Build a context-free grammar for the word language over the alphabet {a, b}, such
that the number of letters a is not equal to the number of letters b. Explain its correctness.)
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